Bid #T2114125C1 - Intersection Improvements in Coral Springs, Miramar and Pembroke Pines

Start Date Apr 28, 2017 3:14:29 PM EDT Awarded Date Not Yet Awarded

T2114125C101-01 Group 1: Sample Rd. and Coral Springs Dr.: MOBILIZATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction •	First Offer - \$18,000.00	1 / lump sum	\$18,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$29,729.00	1 / lump sum	\$29,729.00	Υ	Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

T2114125C101-02 Group 1: Sample Rd. and Coral Springs Dr.: MAINTENANCE OF TRAFFIC									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
AUM Construction ^{II}	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$24,065.00	1 / lump sum	\$24,065.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

T2114125C101-03 Group 1: Sample Rd. and Coral Springs Dr.: LITTER REMOVAL AND DISPOSAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction ^{II}	First Offer - \$100.00	0.4 / acre	\$40.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$100.00	0.4 / acre	\$40.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C101-04 Group 1: Sample Rd. and Coral Springs Dr.: MOWING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
AUM Construction	First Offer - \$100.00	0.4 / acre	\$40.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$100.00	0.4 / acre	\$40.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C101-05 Group 1: Sample Rd. and Coral Springs Dr.: CLEARING AND GRUBBING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction •	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$21,057.00	1 / lump sum	\$21,057.00		Υ			
Product Code:		Supplier Product C	ode:					

Agency Notes: Supplier Notes:

T2114125C101-06 Group 1: Sample Rd. and Coral Springs Dr.: OPTIONAL BASE, GROUP 05								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction ^{II}	First Offer - \$100.00	23 / square yard	\$2,300.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$150.00	23 / square yard	\$3,450.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C101-07 Group 1: Sample Rd. and Coral Springs Dr.: MILLING EXISTING ASPHALT PAVEMENT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2.50	4152 / square yard	\$10,380.00		Υ				
		Supplier Product Code: Supplier Notes:							
AUM Construction	First Offer - \$5.00	4152 / square yard	\$20,760.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C101-08 Group 1: Sample Rd. and Coral Springs Dr.: SUPERPAVE ASPHALTIC CONCRETE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction	First Offer - \$400.00	2.5 / ton	\$1,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$500.00	2.5 / ton	\$1,250.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C101-09 Group 1: Sample Rd. and Coral Springs Dr.: ASPHALTIC CONCRETE FRICTION COURSE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$139.20	229.7 / ton	\$31,974.24		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
AUM Construction	First Offer - \$220.00	229.7 / ton	\$50,534.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C101-10 Group 1: Sample Rd. and Coral Springs Dr.: CONCRETE CURB AND GUTTER, TYPE F								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction	First Offer - \$25.00	285 / linear foot	\$7,125.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$53.30	285 / linear foot	\$15,190.50		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C101-11 Group 1: Sample Rd. and Coral Springs Dr.: CONCRETE SIDEWALK, 6 INCH THICK							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AUM Construction ^{II}	First Offer - \$50.00	119 / square yard	\$5,950.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

WEEKLEY ASPHALT PAVING, INC.	First Offer - \$86.10	119 / square yard	\$10,245.90	Υ
Product Code:	Supplier Product Co	de:		
Agency Notes:		Supplier Notes:		

T2114125C101-12 Group 1: Sample Rd. and Coral Springs Dr.: DETECTABLE WARNINGS							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AUM Construction ^{II}	First Offer - \$25.00	64 / square foot	\$1,600.00		Υ		
		Supplier Product Code: Supplier Notes:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$36.00	64 / square foot	\$2,304.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

T2114125C101-13 Group 1: Sample Rd. and Coral Springs Dr.: PERFORMANCE TURF, SOD							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AUM Construction ^{II}	First Offer - \$20.00	8 / square yard	\$160.00		Υ		
		Supplier Product Code: Supplier Notes:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$20.00	8 / square yard	\$160.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

T2114125C101-14 Group 1: Sample Rd. and Coral Springs Dr.: REPAIR OF IRRIGATION SYSTEMS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction •	First Offer - \$100.00	1 / lump sum	\$100.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$500.00	1 / lump sum	\$500.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C101-15 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL CONDUIT (OPEN TRENCH)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction •	First Offer - \$12.00	152 / linear foot	\$1,824.00		Υ			
		Supplier Product Code: Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$14.01	152 / linear foot	\$2,129.52		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C101-16 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL CONDUIT (DIRECTIONAL BORE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$25.41	430 / linear foot	\$10,926.30		Υ		
		Supplier Product Code: Supplier Notes:					
AUM Construction	First Offer - \$30.00	430 / linear foot	\$12,900.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

T2114125C101-17	Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL SIGNAL CABLE	

Supplier	Unit Price	Qtv/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$8,531.52	1 / per intersection	\$8,531.52	71110111	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AUM Construction •	First Offer - \$9,000.00	1 / per intersection	\$9,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

T2114125C101-18 Group 1: Sample Rd. and Coral Springs Dr.: REMOVE SIGNAL CABLE AT INTERSECTION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction	First Offer - \$200.00	1 / per intersection	\$200.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$818.98	1 / per intersection	\$818.98		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C101-19 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL FIBER OPTIC CONNECTION HARDWARE PATCH PANEL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,841.45	1 / each	\$1,841.45		Υ			
		Supplier Product Code: Supplier Notes:						
AUM Construction	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

T2114125C101-20 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL TWISTED PAIR SIGNAL COMMUNICATIONS CABLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2.30	40 / linear foot	\$92.00		Υ			
		Supplier Product Code: Supplier Notes:						
AUM Construction	First Offer - \$6.00	40 / linear foot	\$240.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C101-21 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL PULL AND SPLICE BOX (13" X 24" COVER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$609.86	23 / each	\$14,026.78		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
AUM Construction	First Offer - \$850.00	23 / each	\$19,550.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C101-22 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL PULL AND SPLICE BOX (24" X 36" COVER)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,380.15	1 / each	\$1,380.15		Υ		
Product Code:		Supplier Product C	ode:				

Exhibit 1 Page 5 of 24

Agency Notes:		Supplier Notes:				
AUM Construction	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				

T2114125C101-23 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL ELECTRICAL POWER SERVICE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,248.75	1 / assembly	\$1,248.75		Υ			
		Supplier Product Code: Supplier Notes:						
AUM Construction	First Offer - \$4,000.00	1 / assembly	\$4,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

T2114125C101-24 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL ELECTRICAL SERVICE WIRE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$4.91	46 / linear foot	\$225.86		Υ				
		Supplier Product Code: Supplier Notes:							
AUM Construction ·	First Offer - \$5.00	46 / linear foot	\$230.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C101-25 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL PRESTRESSED CONCRETE SERVICE POLE, TYPE P-II									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,482.52	1 / each	\$1,482.52		Υ				
		Supplier Product Code: Supplier Notes:							
AUM Construction	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

T2114125C101-26 Group 1: Sample Rd. and Coral Springs Dr.: SHALLOW POLE REMOVAL, PRESTRESSED CONCRETE POLE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
AUM Construction I	First Offer - \$500.00	4 / each	\$2,000.00		Υ				
		Supplier Product Code: Supplier Notes:							
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2,530.90	4 / each	\$10,123.60		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

T2114125C101-27 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL ALUMINUM SIGNALS POLE (PEDESTAL)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$970.54	8 / each	\$7,764.32		Υ				
		Supplier Product Code: Supplier Notes:							
AUM Construction I	First Offer - \$1,100.00	8 / each	\$8,800.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C101-28 Group 1: Sample Rd. and Coral Springs Dr.: INSTALL MAST ARM ASSEMBLY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$18,427.98	4 / each	\$73,711.92		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
AUM Construction	First Offer - \$24,000.00	4 / each	\$96,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

T2114125C101-29 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL ALUMINUM TRAFFIC SIGNAL (3 SECTION, 1 WAY)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$756.29	11 / assembly	\$8,319.19		Υ				
		Supplier Product Code: Supplier Notes:							
AUM Construction	First Offer - \$1,100.00	11 / assembly	\$12,100.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C101-30 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL ALUMINUM TRAFFIC SIGNAL (5 SECTION, 1 WAY)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,173.22	4 / assembly	\$4,692.88		Υ				
		Supplier Product Code: Supplier Notes:							
AUM Construction	First Offer - \$1,500.00	4 / assembly	\$6,000.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

T2114125C101-31 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL PEDESTRIAN SIGNAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$527.59	8 / assembly	\$4,220.72		Υ			
		Supplier Product Code: Supplier Notes:						
AUM Construction I	First Offer - \$1,000.00	8 / assembly	\$8,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

T2114125C101-32 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL VEHICLE VIDEO DETECTION SYSTEM CABINET EQUIPMENT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
AUM Construction	First Offer - \$11,000.00	1 / each	\$11,000.00		Υ				
		Supplier Product Code: Supplier Notes:							
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$11,661.67	1 / each	\$11,661.67		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

T2114125C101-33 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL VEHICLE VIDEO DETECTION SYSTEM ABOVE GROUND EQUIPMENT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				

AUM Construction	First Offer - \$2,200.00	6 / each	\$13,200.00	9-	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
	First Offer - \$2,978.78	6 / each	\$17,872.68		Υ	
		Supplier Product Code: Supplier Notes:				

T2114125C101-34 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL GPS SIGNAL PRIORITY AND PREEMPTION SYSTEM									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
AUM Construction	First Offer - \$8,000.00	1 / each	\$8,000.00		Υ				
		Supplier Product Code: Supplier Notes:							
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$8,036.23	1 / each	\$8,036.23		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

T2114125C101-35 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL AUDIBLE/TACTILE PEDESTRIAN DETECTOR									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,197.42	8 / each	\$9,579.36		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
AUM Construction	First Offer - \$1,500.00	8 / each	\$12,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

T2114125C101-36 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL TRAFFIC CONTROL ASSEMBLY								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
WEEKLEY ASPHALT PAVING, INC.	First Offer	- \$25,658.24	1 / assembly	\$25,658.24		Υ		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
AUM Construction	First Offer	- \$30,000.00	1 / assembly	\$30,000.00		γ		
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:				

T2114125C101-37 Group 1: Sample Rd. and Coral Springs Dr.: REMOVE TRAFFIC CONTROLLER ASSEMBLY AND CABINET								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction ^{II}	First Offer - \$200.00	1 / assembly	\$200.00		Υ			
		Supplier Product Code: Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$614.23	1 / assembly	\$614.23		Υ			
		Supplier Product Code: Supplier Notes:						

T2114125C101-38 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH WIRELESS COMMUNICATION DEVICE (ETHERNET ACCESS POINT)								
Supplier Unit Price Qty/Unit Total Price Attch. Docs								
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$768.10	1 / each	\$768.10		Υ			
Product Code:		Supplier Product C	ode:					

				. ~5~	· · · - ·	
Agency Notes:		Supplier Notes:				
AUM Construction	First Offer - \$1,100.00	1 / each	\$1,100.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				

T2114125C1--01-39 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL SINGLE POST SIGN, GROUND MOUNT (UP TO 12 SF)

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$412.12	1 / assembly	\$412.12		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
AUM Construction	First Offer - \$500.00	1 / assembly	\$500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

T2114125C1--01-40 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL SINGLE POST SIGN, GROUND MOUNT (12 TO 18 SF)

MOUNT (12 TO 18 SF)	TO 18 SF)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AUM Construction I	First Offer - \$600.00	1 / assembly	\$600.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,047.33	1 / assembly	\$1,047.33		Υ		
Product Code:	oduct Code: Supplier Product Code:						
Agency Notes:		Supplier Notes:					

T2114125C101-41 Group 1: Sample Rd. and Coral Springs Dr.: REMOVE SINGLE POST SIGN								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction ^{II}	First Offer - \$50.00	2 / assembly	\$100.00		Υ			
		Supplier Product Code: Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$51.19	2 / assembly	\$102.38		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C1--01-42 Group 1: Sample Rd. and Coral Springs Dr.: FURNISH AND INSTALL INTERNALLY ILLUMINATED SIGN (OVERHEAD MOUNT)

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2,173.45	4 / each	\$8,693.80		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AUM Construction	First Offer - \$3,000.00	4 / each	\$12,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

T2114125C1--01-43 Group 1: Sample Rd. and Coral Springs Dr.: RETRO-REFLECTIVE PAVEMENT MARKER (WHITE-

RED)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3.00	41 / each	\$123.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
AUM Construction	First Offer - \$5.50	41 / each	\$225.50		Υ
Product Code:		Supplier Product Co	ode:	•	•

Agency Notes: Supplier Notes:

T2114125C101-44 Group 1: Sample Rd. and Coral Springs Dr.: RETRO-REFLECTIVE PAVEMENT MARKER (YELLOW-YELLOW)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3.00	69 / each	\$207.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
AUM Construction •	First Offer - \$5.50	69 / each	\$379.50		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						

T2114125C101-45 Group 1: Sample Rd. and Coral Springs Dr.: PAINTED PAVEMENT MARKINGS (6" SOLID WHITE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$710.00	0.19 / gross mile	\$134.90		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
AUM Construction	First Offer - \$900.00	0.19 / gross mile	\$171.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C101-46 Group 1: Sample Rd. and Coral Springs Dr.: PAINTED PAVEMENT MARKINGS (8" SOLID WHITE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$850.00	0.01 / gross mile	\$8.50		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						
AUM Construction	First Offer - \$1,000.00	0.01 / gross mile	\$10.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

T2114125C101-47 Group 1: Sample Rd. and Coral Springs Dr.: PAINTED PAVEMENT MARKINGS (12" SOLID WHITE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$0.60	858 / linear foot	\$514.80		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
AUM Construction •	First Offer - \$1.50	858 / linear foot	\$1,287.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C101-48 Group 1: Sample Rd. and Coral Springs Dr.: PAINTED PAVEMENT MARKINGS (18" SOLID WHITE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$0.90	23 / linear foot	\$20.70		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
AUM Construction ^{II}	First Offer - \$1.25	23 / linear foot	\$28.75		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		_				

T2114125C101-49 Group 1: Sample Rd. and Coral Springs Dr.: PAINTED PAVEMENT MARKINGS (24" SOLID WHITE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1.10	210 / linear foot	\$231.00		Υ			
Product Code: Supplier Product Code:								

Agency Notes:		Supplier Notes:				
AUM Construction ^{II}	First Offer - \$1.75	210 / linear foot	\$367.50		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				

T2114125C101-50 Group 1: Sample Rd. and Coral Springs Dr.: PAINTED PAVEMENT MARKINGS (6" 10-30 SKIP WHITE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$350.00	0.06 / gross mile	\$21.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
AUM Construction	First Offer - \$500.00	0.06 / gross mile	\$30.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C101-51 Group 1: Sample Rd. and Coral Springs Dr.: PAINTED PAVEMENT MARKINGS (ARROWS WHITE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$25.00	8 / each	\$200.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
AUM Construction	First Offer - \$30.00	8 / each	\$240.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C101-52 Group 1: Sample Rd. and Coral Springs Dr.: PAINTED PAVEMENT MARKINGS (6" 2-4 DOTTED GUIDELINE/6-10 EXTENSION WHITE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$350.00	0.01 / gross mile	\$3.50		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
AUM Construction	First Offer - \$800.00	0.01 / gross mile	\$8.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C101-53 Group 1: Sample Rd. and Coral Springs Dr.: PAINTED PAVEMENT MARKINGS (6" SOLID YELLOW)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$600.00	0.07 / gross mile	\$42.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
AUM Construction	First Offer - \$800.00	0.07 / gross mile	\$56.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C101-54 Group 1: Sample Rd. and Coral Springs Dr.: PAINTED PAVEMENT MARKINGS (ISLAND NOSE YELLOW)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2.25	37 / square foot	\$83.25		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
AUM Construction	First Offer - \$20.00	37 / square foot	\$740.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C101-55 Group 1: Sample Rd. and Coral Springs Dr.: REMOVE THERMOPLASTIC PAVEMENT MARKINGS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2.80	64 / square foot	\$179.20		Υ				
		Supplier Product Code: Supplier Notes:							
AUM Construction	First Offer - \$10.00	64 / square foot	\$640.00		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								

T2114125C101-56 Group 1: Sample Rd. and Coral Springs Dr.: THERMOPLASTIC PAVEMENT MARKINGS (12" SOLID WHITE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2.00	858 / linear foot	\$1,716.00		Υ					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
AUM Construction	First Offer - \$2.50	858 / linear foot	\$2,145.00		Υ					
		Supplier Product Code: Supplier Notes:								

T2114125C101-57 Group 1: Sample Rd. and Coral Springs Dr.: THERMOPLASTIC PAVEMENT MARKINGS (18" SOLID WHITE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction	First Offer - \$2.50	23 / linear foot	\$57.50		Υ			
		Supplier Product Code: Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2.50	23 / linear foot	\$57.50		Υ			
		Supplier Product Code: Supplier Notes:						

T2114125C101-58 Group 1: Sample Rd. and Coral Springs Dr.: THERMOPLASTIC PAVEMENT MARKINGS (24" SOLID WHITE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3.15	210 / linear foot	\$661.50		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
AUM Construction •	First Offer - \$3.50	210 / linear foot	\$735.00		Υ				
		Supplier Product Code: Supplier Notes:							

T2114125C101-59 Group 1: Sample Rd. and Coral Springs Dr.: THERMOPLASTIC PAVEMENT MARKINGS (6" 2-4 DOTTED GUIDELINE/6-10 GAP EXTENSION)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,350.00	0.01 / gross mile	\$13.50		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
AUM Construction •	First Offer - \$2,000.00	0.01 / gross mile	\$20.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

	T2114125C101-60	Group 1: Sample Rd. and Coral Springs Dr.: THERMOPLASTIC PAVEMENT MARKINGS (ARROW							
1	WHITE)								
	Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		

	•			I ago 12 oi 27
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$50.00	8 / each	\$400.00	Υ
Product Code:		Supplier Product Co	ode:	
Agency Notes:	Supplier Notes:			
AUM Construction	First Offer - \$75.00	8 / each	\$600.00	Y
Product Code:		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

T2114125C101-61 Group 1: Sample Rd. and Coral Springs Dr.: THERMOPLASTIC PAVEMENT MARKINGS (6" SOLID WHITE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$4,200.00	0.19 / gross mile	\$798.00		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
AUM Construction	First Offer - \$6,500.00	0.19 / gross mile	\$1,235.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

T2114125C101-62 Group 1: Sample Rd. and Coral Springs Dr.: THERMOPLASTIC PAVEMENT MARKINGS (8" SOLID WHITE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
AUM Construction	First Offer - \$3,000.00	0.01 / gross mile	\$30.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$5,200.00	0.01 / gross mile	\$52.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

T2114125C101-63 Group 1: Sample Rd. and Coral Springs Dr.: THERMOPLASTIC PAVEMENT MARKINGS (6" 10-30 SKIP WHITE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,350.00	0.07 / gross mile	\$94.50		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
AUM Construction	First Offer - \$2,250.00	0.07 / gross mile	\$157.50		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

T2114125C101-64 Group 1: Sample Rd. and Coral Springs Dr.: THERMOPLASTIC PAVEMENT MARKINGS (6" SOLID YELLOW)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$4,200.00	0.07 / gross mile	\$294.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
AUM Construction	First Offer - \$6,500.00	0.07 / gross mile	\$455.00		Υ				
		Supplier Product Code: Supplier Notes:							

T2114125C101-65 Group 1: Sample Rd. and Coral Springs Dr.: TEMPORARY MULTI-POST SIGN (GROUND MOUNT)								
Supplier Unit Price Qty/Unit Total Price Attch. Doc								
AUM Construction	First Offer - \$500.00	1 / assembly	\$500.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						

Exhibit 1 Page 13 of 24

				. ~5~	
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$4,000.00	1 / assembly	\$4,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

T2114125C101-66 Group 1: Sample Rd. and Coral Springs Dr.: AUDIO-VISUAL RECORDS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction I	First Offer - \$500.00	1 / lump sum	\$500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,300.00	1 / lump sum	\$1,300.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

T2114125C101-67 Group 1: Sample Rd. and Coral Springs Dr.: PREMIUM FOR INSURANCE AND BONDS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction ^{II}	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$14,145.00	1 / lump sum	\$14,145.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

T2114125C102-01 Group 2: Pembroke Rd. and S.W. 178 Ave.: MOBILIZATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$29,301.00	1 / lump sum	\$29,301.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

T2114125C102-02 Group 2: Pembroke Rd. and S.W. 178 Ave.: MAINTENANCE OF TRAFFIC								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
rigency Notes.	11	Supplier Notes:		1				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$24,400.00	1 / lump sum	\$24,400.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						

T2114125C102-03 Group 2: Pembroke Rd. and S.W. 178 Ave.: LITTER REMOVAL AND DISPOSAL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction ^{II}	First Offer - \$100.00	0.4 / acre	\$40.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$100.00	0.4 / acre	\$40.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-04 Group 2: Pembroke Rd. and S.W. 178 Ave.: MOWING						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

AUM Construction •	First Offer - \$100.00	0.4 / acre	\$40.00	3	Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$100.00	0.4 / acre	\$40.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

T2114125C102-05 Group 2: Pembroke Rd. and S.W. 178 Ave.: CLEARING AND GRUBBING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction ^{II}	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ			
		Supplier Product Code: Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$20,406.00	1 / lump sum	\$20,406.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

T2114125C102-06 Group 2: Pembroke Rd. and S.W. 178 Ave.: OPTIONAL BASE, GROUP 05								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction ^{II}	First Offer - \$100.00	4 / square yard	\$400.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$287.00	4 / square yard	\$1,148.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-07 Group 2: Pembroke Rd. and S.W. 178 Ave.: MILLING EXISTING ASPHALT PAVEMENT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3.00	2275 / square yard	\$6,825.00		Υ				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
AUM Construction •	First Offer - \$5.00	2275 / square yard	\$11,375.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C102-08 Group 2: Pembroke Rd. and S.W. 178 Ave.: SUPERPAVE ASPHALTIC CONCRETE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction I	First Offer - \$300.00	0.4 / ton	\$120.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,500.00	0.4 / ton	\$600.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

T2114125C102-09 Group 2: Pembroke Rd. and S.W. 178 Ave.: ASPHALTIC CONCRETE FRICTION COURSE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction ^{II}	First Offer - \$220.00	125.3 / ton	\$27,566.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$250.00	125.3 / ton	\$31,325.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-10 Group 2: Pembroke Rd. and S.W. 178 Ave.: CONCRETE CURB AND GUTTER, TYPE F								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction ^{II}	First Offer - \$25.00	322 / linear foot	\$8,050.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$42.80	322 / linear foot	\$13,781.60		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-11 Group 2: Pembroke Rd. and S.W. 178 Ave.: CONCRETE CURB, TYPE B								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction •	First Offer - \$25.00	7 / linear foot	\$175.00		Υ			
		Supplier Product Code: Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$42.80	7 / linear foot	\$299.60		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-12 Group 2: Pembroke Rd. and S.W. 178 Ave.: CONCRETE SIDEWALK, 6 INCH THICK								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction	First Offer - \$50.00	232 / square yard	\$11,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$81.80	232 / square yard	\$18,977.60		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-13 Group 2: Pembroke Rd. and S.W. 178 Ave.: DETECTABLE WARNINGS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction •	First Offer - \$25.00	67 / square foot	\$1,675.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$36.00	67 / square foot	\$2,412.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-14 Group 2: Pembroke Rd. and S.W. 178 Ave.: PERFORMANCE TURF, SOD								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$8.00	36 / square yard	\$288.00		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
AUM Construction	First Offer - \$20.00	36 / square yard	\$720.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-15 Group 2: Pembroke Rd. and S.W. 178 Ave.: REPAIR OF IRRIGATION SYSTEMS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction ^{II}	First Offer - \$100.00	1 / lump sum	\$100.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$750.00	1 / lump sum	\$750.00		Υ			

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

T2114125C102-16 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL CONDUIT (OPEN TRENCH)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$8.94	420 / linear foot	\$3,754.80		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
AUM Construction	First Offer - \$12.00	420 / linear foot	\$5,040.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-17 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL CONDUIT (DIRECTIONAL BORE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$25.12	421 / linear foot	\$10,575.52		Υ			
		Supplier Product Code: Supplier Notes:						
AUM Construction	First Offer - \$30.00	421 / linear foot	\$12,630.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-18 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL SIGNAL CABLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction ^{II}	First Offer - \$9,000.00	1 / per intersection	\$9,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$10,969.10	1 / per intersection	\$10,969.10		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

T2114125C102-19 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL PULL AND SPLICE BOX (13" X 24" COVER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$609.86	31 / each	\$18,905.66		Υ			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
AUM Construction •	First Offer - \$850.00	31 / each	\$26,350.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-20 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL PULL AND SPLICE BOX (24" X 36" COVER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,380.15	1 / each	\$1,380.15		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
AUM Construction	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

T2114125C1--02-21 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL ELECTRICAL POWER SERVICE

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,248.75	1 / assembly	\$1,248.75		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AUM Construction •	First Offer - \$4,000.00	1 / assembly	\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

T2114125C102-22 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL ELECTRICAL SERVICE WIRE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$4.91	255 / linear foot	\$1,252.05		Υ			
		Supplier Product Code: Supplier Notes:						
AUM Construction •	First Offer - \$5.00	255 / linear foot	\$1,275.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-23 Group 2: Pembroke Rd. and S.W. 178 Ave.: PRESTRESSED CONCRETE SERVICE POLE, TYPE P-II							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,277.78	1 / each	\$1,277.78		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
AUM Construction	First Offer - \$2,000.00	1 / each	\$2,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

T2114125C102-24 Group 2: Pembroke (PEDESTAL)	Rd. and S.W. 178 Ave	:: FURNISH AND IN	STALL ALUMINUM S	IGNALS I	POLE
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AUM Construction ¹¹	First Offer - \$1,100.00	8 / each	\$8,800.00		Υ
		Supplier Product Code: Supplier Notes:			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,157.55	8 / each	\$9,260.40		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

T2114125C102-25 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL NEW MAST ARM							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$40,783.21	1 / each	\$40,783.21		Υ		
		Supplier Product Code: Supplier Notes:					
AUM Construction	First Offer - \$48,000.00	1 / each	\$48,000.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					

T2114125C102-26 Group 2: Pembroke Rd. and S.W. 178 Ave.: INSTALL MAST ARM ASSEMBLY							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$18,137.21	3 / each	\$54,411.63		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
AUM Construction	First Offer - \$24,000.00	3 / each	\$72,000.00		Υ		

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

T2114125C102-27	Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL ALUMINUM TRAFFIC SIGNAL
(3 SECTION, 1 WAY)	

(3 SECTION, I WAY)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$753.78	10 / assembly	\$7,537.80		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
AUM Construction	First Offer - \$1,100.00	10 / assembly	\$11,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

T2114125C1--02-28 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL ALUMINUM TRAFFIC SIGNAL (5 SECTION, 1 WAY)

(o ozonow) i witi)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,173.22	2 / assembly	\$2,346.44		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
AUM Construction	First Offer - \$1,500.00	2 / assembly	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

T2114125C102-29 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL PEDESTRIAN SIGNAL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$527.59	8 / assembly	\$4,220.72		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
AUM Construction I	First Offer - \$1,000.00	8 / assembly	\$8,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

T2114125C1--02-30 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL VEHICLE VIDEO DETECTION SYSTEM CABINET FOUIPMENT

3131 EWI CADINET EQUIPMENT					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AUM Construction ^{II}	First Offer - \$11,000.00	1 / each	\$11,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$11,661.67	1 / each	\$11,661.67		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

T2114125C1--02-31 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL VEHICLE VIDEO DETECTION

SYSTEM ABOVE GROUND EQUIPMENT					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AUM Construction ^{II}	First Offer - \$2,200.00	4 / each	\$8,800.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2,978.78	4 / each	\$11,915.12		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

T2114125C1--02-32 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL AUDIBLE/TACTILE PEDESTRIAN DETECTOR Supplier Unit Price Qty/Unit **Total Price** Attch. Docs First Offer - \$1,197.42 8 / each \$9,579.36 Υ WEEKLEY ASPHALT PAVING, INC. 📱 Product Code: Supplier Product Code: Agency Notes: Supplier Notes: First Offer - \$1,500.00 Υ 8 / each \$12,000.00 AUM Construction Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

T2114125C102-33 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL TRAFFIC CONTROL ASSEMBLY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$25,658.24	1 / assembly	\$25,658.24		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						
AUM Construction	First Offer - \$30,000.00	1 / assembly	\$30,000.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

T2114125C102-34 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH WIRELESS COMMUNICATION DEVICE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$768.10	1 / each	\$768.10		Υ			
		Supplier Product Code: Supplier Notes:						
AUM Construction	First Offer - \$1,100.00	1 / each	\$1,100.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

T2114125C102-35 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL SINGLE POST SIGN, GROUND MOUNT (UP TO 12 SF)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
AUM Construction ^{II}	First Offer - \$500.00	4 / assembly	\$2,000.00		Υ				
		Supplier Product Code: Supplier Notes:							
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$766.95	4 / assembly	\$3,067.80		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C102-36 Group 2: Pembroke Rd. and S.W. 178 Ave.: REMOVE SINGLE POST SIGN								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AUM Construction	First Offer - \$50.00	15 / assembly	\$750.00		Υ			
		Supplier Product Code: Supplier Notes:						
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$102.37	15 / assembly	\$1,535.55		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-37 Group 2: Pembroke Rd. and S.W. 178 Ave.: FURNISH AND INSTALL INTERNALLY ILLUMINATED SIGN (OVERHEAD MOUNT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2,453.98	4 / each	\$9,815.92		Υ			
Product Code:		Supplier Product C	ode:					

Agency Notes:		Supplier Notes:				
AUM Construction •	First Offer - \$3,000.00	4 / each	\$12,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

T2114125C102-38 Group 2: Pembroke Rd. and S.W. 178 Ave.: RETRO-REFLECTIVE PAVEMENT MARKER (WHITE-RED)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3.00	18 / each	\$54.00		Υ				
		Supplier Product Code: Supplier Notes:							
AUM Construction	First Offer - \$5.50	18 / each	\$99.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C102-39 Group 2: Pembroke Rd. and S.W. 178 Ave.: RETRO-REFLECTIVE PAVEMENT MARKER (YELLOW-YELLOW)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3.00	39 / each	\$117.00		Υ				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:						
AUM Construction	First Offer - \$5.50	39 / each	\$214.50		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C102-40 Group 2: Pembroke Rd. and S.W. 178 Ave.: PAINTED PAVEMENT MARKINGS (6" SOLID WHITE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$710.00	0.12 / gross mile	\$85.20		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
AUM Construction	First Offer - \$900.00	0.12 / gross mile	\$108.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

T2114125C102-41 Group 2: Pembroke Rd. and S.W. 178 Ave.: PAINTED PAVEMENT MARKINGS (12" SOLID WHITE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$0.60	508 / linear foot	\$304.80		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
AUM Construction	First Offer - \$150.00	508 / linear foot	\$76,200.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-42 Group 2: Pembroke Rd. and S.W. 178 Ave.: PAINTED PAVEMENT MARKINGS (24" SOLID WHITE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1.10	550 / linear foot	\$605.00		Υ			
Product Code:		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
AUM Construction •	First Offer - \$175.00	550 / linear foot	\$96,250.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C1--02-43 Group 2: Pembroke Rd. and S.W. 178 Ave.: PAINTED PAVEMENT MARKINGS (6" 10-30 SKIP

WHITE)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$350.00	0.01 / gross mile	\$3.50		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
AUM Construction	First Offer - \$500.00	0.01 / gross mile	\$5.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

T2114125C102-44 Group 2: Pembroke Rd. and S.W. 178 Ave.: PAINTED PAVEMENT MARKINGS (ARROW WHITE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$25.00	6 / each	\$150.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
AUM Construction	First Offer - \$30.00	6 / each	\$180.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-45 Group 2: Pembroke Rd. and S.W. 178 Ave.: PAINTED PAVEMENT MARKINGS (6" SOLID YELLOW)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$710.00	0.06 / gross mile	\$42.60		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
AUM Construction	First Offer - \$800.00	0.06 / gross mile	\$48.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-46 Group 2: Pembroke Rd. and S.W. 178 Ave.: PAINTED PAVEMENT MARKINGS (18" SOLID YELLOW)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$0.90	25 / linear foot	\$22.50		Υ			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:							
AUM Construction	First Offer - \$1.25	25 / linear foot	\$31.25		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-47 Group 2: Pembroke Rd. and S.W. 178 Ave.: PAINTED PAVEMENT MARKINGS (ISLAND NOSE YELLOW)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2.25	7 / square foot	\$15.75		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
AUM Construction	First Offer - \$20.00	7 / square foot	\$140.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-48 Group 2: Pembroke Rd. and S.W. 178 Ave.: THERMOPLASTIC PAVEMENT MARKINGS (12" SOLID WHITE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2.00	508 / linear foot	\$1,016.00		Υ			
Product Code: Supplier Product Code:			de:					
Agency Notes:		Supplier Notes:						

Exhibit 1 Page 22 of 24

				. ago	0
AUM Construction •	First Offer - \$2.50	508 / linear foot	\$1,270.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

T2114125C102-49 Group 2: Pembroke Rd. and S.W. 178 Ave.: THERMOPLASTIC PAVEMENT MARKINGS (24" SOLID WHITE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$3.15	550 / linear foot	\$1,732.50		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
AUM Construction •	First Offer - \$3.50	550 / linear foot	\$1,925.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-50 Group 2: Pembroke Rd. and S.W. 178 Ave.: THERMOPLASTIC PAVEMENT MARKINGS (ARROW WHITE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$50.00	6 / each	\$300.00		Υ			
		Supplier Product Code: Supplier Notes:						
AUM Construction •	First Offer - \$75.00	6 / each	\$450.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

T2114125C102-51 Group 2: Pembroke R WHITE)	d. and S.W. 178 A	ve.: THERMOPLASTI	C PAVEMENT MARK	INGS (18"	SOLID	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$2.50	25 / linear foot	\$62.50		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
AUM Construction	First Offer - \$3.00	25 / linear foot	\$75.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

T2114125C102-52 Group 2: Pembroke Rd. and S.W. 178 Ave.: THERMOPLASTIC PAVEMENT MARKINGS (6" SOLID WHITE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$4,200.00	0.12 / gross mile	\$504.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
AUM Construction	First Offer - \$6,500.00	0.12 / gross mile	\$780.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

T2114125C102-53 Group 2: Pembroke Rd. and S.W. 178 Ave.: THERMOPLASTIC PAVEMENT MARKINGS (6" 10-30 SKIP WHITE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,350.00	0.01 / gross mile	\$13.50		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					
AUM Construction	First Offer - \$2,250.00	0.01 / gross mile	\$22.50		Υ			
Product Code:		Supplier Product C	ode:					

Agency Notes: Supplier Notes:

T2114125C102-54 Group 2: Pembroke Rd. and S.W. 178 Ave.: THERMOPLASTIC PAVEMENT MARKINGS (6" SOLID YELLOW)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$4,200.00	0.06 / gross mile	\$252.00		Υ			
		Supplier Product Code: Supplier Notes:						
AUM Construction I	First Offer - \$6,500.00	0.06 / gross mile	\$390.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:					

T2114125C102-55 Group 2: Pembroke Rd. and S.W. 178 Ave.: TEMPORARY MULTI-POST SIGN (GROUND MOUNT)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
AUM Construction •	First Offer - \$555.00	1 / assembly	\$555.00		Υ	
		Supplier Product Code: Supplier Notes:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$4,000.00	1 / assembly	\$4,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

T2114125C102-56 Group 2: Pembroke Rd. and S.W. 178 Ave.: AUDIO-VISUAL RECORDS						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
AUM Construction ^{II}	First Offer - \$573.10	1 / lump sum	\$573.10		Υ	
		Supplier Product Code: Supplier Notes:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$1,300.00	1 / lump sum	\$1,300.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

T2114125C102-57 Group 2: Pembroke Rd. and S.W. 178 Ave.: PREMIUM FOR INSURANCE AND BONDS						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
AUM Construction ^{II}	First Offer - \$8,361.95	1 / lump sum	\$8,361.95		Υ	
		Supplier Product Code: Supplier Notes:				
WEEKLEY ASPHALT PAVING, INC.	First Offer - \$14,175.00	1 / lump sum	\$14,175.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

Supplier Totals

f WEEKLEY ASPHALT PAVING, INC.	\$828,944.51 (124/124 items)
Bid Contact June Stone june@weekleyasp.com Ph 954-680-8005 Fax 954-680-8671	Address 20701 STIRLING RD PEMBROKE PINES, FL 33332	
Bid Bond (Status: Authorized on May 26, 2017)		
Agency Notes:	Supplier Notes:	Head Attch:
Bid		\$4,500.00

Allowance			1 agc 24 01 24
f AUM Construction		\$985,555.55 (124/124 items)
Bid Contact	Patricia Gonzalez ho@auminc.us Ph 954-544-2656 Fax 786-558-7422	Address 6011 Rodman Street Suite 208 Hollywood, FL 33023	
Qualifications	CBE SBE		
Bid Bond	(Status: Authorized on Jun 5, 2017)		
Agency Note	s:	Supplier Notes:	Head Attch:
Bid Allowance			\$4,500.00

^{**} All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.